The Birthmark: Tiered Assignment
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Answer however many questions necessary to equal 10 points. For example, answer two 3pt questions and two 2pt questions; or answer two 5pt questions. You can go over 10 pts, but not under (
2 point questions 

1.  Aylmer can best be described as….
2. Georgianna agrees to the experiment because… 

3. The event that warns of Georgianna's fate is…
4. The climax of the story occurs when…
5. Why does Almer want the birthmark gone so badly? 

3 point questions 

6. The irony of the story is that…
7. In the line, “Its fallen leaves lay like autumn about its base of clay,” the leaves symbolize… 
8. What dangers exist with scientific advancement? Should we put constraints on this scientific advancement?

5 point questions 

9. There is an adage that says beauty is only skin deep. In other words, there is more to a person than the outward appearance. Explain how Aylmer’s failure to understand these words of wisdom affects the outcome of the story. 

10. In your own words, explain the dream that Aylmer had.  Do NOT copy your answer from the story.  Put it into your own words. 

11.  Before Aylmer married Georgianna, he scarcely noticed her birthmark. After a while, however, it bothered him greatly. Explain why you think his feelings changed.

7 point question

12.  The geranium and the birthmark were two symbols in this story.  Choose either the geranium or the birthmark.  What did it look like?  What did it symbolize, represent, or stand for?  Finally, why was it important to the story?    Answer all three of these questions.  Be sure to tell whether you are talking about the geranium or the birthmark.  









